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. wﬁﬁ&ﬁ%:-mm DR E kD . (104)

. WIHERAMERSRE 27 (1) = 2X" (1) + 5x(2) =0, x(0) =0, x'(0) =1 ZfA&F. (104)

. BPFRIZ O WTROMICE Z X,

(1) #iif z = f(x,y) ED M A(a,b,c) ,c= fla,b), T 2ERE I Xy ERE L, (5F)

(2) FISIET 2= f(x.y) =y x> +y? DI AB,—4,5) ICB T 2Bl 0 ABRRE =T, (5:4)

L FEI -1<x<2,-1<y<2C, BAE f(x,y)=sinxsiny # & Z %,

(D) s fys fres fogs fry 2RO E. (104)
(2) foy) DEREZRD L, (54)

(3) f(x,y) DifiEiz K k. MKfE M/ NMED»ZHEI T2 2 L. (55)

Dy OB, x.y s OBITH B L, % B3R % 7 0 D BRI DB AR 7 2

(104%)

_ gﬁﬁﬁ;}vzﬂl)e“ydxd)} ,D:0<y<logx,1<x<2 DfizRkD X, (1045)

BRIV = [ [ s RO FERR L, B R S (105)

. BENE D :x? +y? S% FD2ER TV = HDcos(xz +y*)dxdy % MEREAH TR D 3

(1) o D ZXne k. (55)
(2) MRPEREAA x = reost, y=rsint DY a7V J ZEMHEE X, (5R)

(3) V Z MR k. (5RD)
4) v ofizko k. (55)



1) f%ﬂ%zﬁ%:-xms}n DR E RS L. (104)

x(:):Ce"+e‘fjefe 5 S mcet ) =3 Afa+ear}= Ce_t+%e_t(2t+ezt) (C EEER. //

2. PIHMERIE x” () - 2x'(1)+ 5x(t) =0, x(0)= 0, x’(0) =1 Zfi#i},  (10s5)

R A2 -2445=0.
R 0 A=122i (LREER) |

« FEARMR ¢ x (1) = €' cos2t, x, (1) = €' sin2t
- —fRAF 1 x(1) = ax, (1) +bxy (1) = € (acos2t +bsin2t)  (a,b IIALEER) .
- GBI ¢ x'(1)=¢' (acos2t +bsin2t)+2¢' (—asin2t +beos2t)

WIS x(0)=0,x"(0) =1 1T —ftfift & 2 DEBIEZRA LT,

x(0)=a=0,x0)=a+2b=1= a=0,b=1/2,
ZAZFRIX, x(t)=e’(00082t+%sin2t)=%etsin2t. //
3. BEFHIC O W TRDIICE 2
(1) Wi z = f(x,y) LD Ala,b,c) e = fla,b), ITBT 2 EERE 7 2y TR L, (5H)
(x,y,2)=(a,b,c)+1(f(a,b), fy(a,b),—1). //

(2) P8 2= F(x,y)= Va2 +y% DELAG,—4,5) BT 2B PO AT, (554)

fx(-x’y)z —2’ f_‘y(-xay):

x4y x4y

> ibfx(3,4)— (b == . B

2= [ A=+ B+ =20 I - L+ 445 =§x—§y.

4, fHIE -1<x<2,-1<y<2-O@O7T, BIEL f(x,y)=sinxsiny &2 5.

() fofyoFaer Fue fry ZRD &, (1055)

fe=cosxsiny, f, =sinxcosy, fy, =—sinxsiny, f,, =cosxcosy, f,, =—sinxsiny
(2) f(x,y) DIEEE S ERD K. (5)
f,=cosxsiny=0 -, fyzsinxcosy=0"'®72@@<. DX, cosx=0 or siny=0,
£) cosx=0DEE, OkD, x=r/2, QIZRALT, cosy=0, Ok y=n/2,

) siny=0D&E, Ok, x=0, @QIZRALT, sinx=0, ©OkDH y=0,



(3) f(x,y) DlfiE% K k. WA HNMEDZHGET 22 &, (55)
1) (x,y)=(r/2,7m/2) DL &,
A= fo(x)=-1<0,B=f, (x,y)=0,C = f,,(x.y)=—1,D=AC—B* =1>0
THDIDS, (xy)=@@/2,7x/2) 1FMKET, WKME f(r/2,7m/2)=1,
) (x,y)=(0,0) D& &,
A=fo (xy)=0,B=f (x)=1,C= f,,(x,y)=0,D=AC-B*=-1<0
THDHD 5, (x,y)=(0,0) FHA.

5. zWx,y DBEE, x,y st DBABTH % L &, %%*b%fc@@éﬂiﬁ%%ﬁ@fﬁﬁ@ﬁ%%

82_%%4_%@ /)

l 1053 —=
K ) ot Jdxodt OJyot

6. ZE%%V=J.J.Dex+ydxdy ,D:0<y<logx,1<x<2 DfizRkD X, (105)

Ve J.IZ(J(;()gery dy)dx _ J‘IZ o I:ey ]:)ogxdx _ '[12 (i l)ex i

2 2
= (Jc—l)ex]1 —L efdx=e*—(*—e)=e.

1.
ey 2288688 L. (1051)
BT D:0<x<1, 0<y<x (fil¥). ZHUIBERREIH & L Y=X Ly
TD:0<y<l, y<x<1 £FEHIF S, ®RIT,
1f 1 D
vzjo{jyf(x,y)dx}dy, //
0 1

8. ik Dx+y? <7 LBV = [ cos(? +y7)dvdy &

i B s ek 1 2
(1) Beoriiis D 2 M3 X (FR).  (580)

(2) MRPEREZSYA x = rcost,y=rsint DY a7 v J ZitHEE k. (584)



X, X —rsi .
J=det| "7 =det( oSt —rsint jzrcoszt+rsm2t=r ./
-V sint  rcost

(3) V m RS X (55)

J-M

2
, Lcosr dr]dt. // Iz

V= ”Dcos(xz +y2)dxdy = _[02”( Y
J|

@) vofizko &, (55)

u=r* L L, duzzrdraL‘L NT/2 yp,
ul0 - nw/2

J«/ﬁ

7:/2:1
0 2

2 1
v=j0 Sdt=1. //

rcoerdrzlfmzcosudu=l[sinu] =
270 2
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